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Whar pilcking wp a digit Ioom poub student pumsbe:, that diglt bas 1o be pon-Zoro. T
the digis specifisd by the Ciguce lappene to bo o3 wero, take the digit on its vight
imat@ad, bub if that ia aleg s 2200, kesp JOiRd iz the Tight until yoo find o fao-zero
digit I yon reaich the sxbddmc right digit and 1f's wLill & zera, starl wClrcith Che

digit "m' oo the far Loft

I} A recharpeable Mashlight battery is capable of delivering 10b mA {ten times b, where
b is the second digit from the left, after cnsuring it is not Zero as per the instruclions
above) for about 10g hours. How much charge can it release at that rate? 1T the
terminal voltage is (1+€) yolts, how much energy can the batfery deliver?

Answer:g= | . £ x0 (" energy= 4% o’ . At

7} The current enlering the positive terminal of a device is {d-:Lj amps. The vollage
across the device (voltage drop, difference in height between the two terminals of the

dovice) is (b4 volts. Where d, h,b and I, arc taken from vour student number after o

ensuring they are not zero as per the instructions above, o e i

a) Find the charge defivered to the device between t=0 and 1 h scconds. ¥ ;ﬁ " <

by Calculate the corresponding power absorbed. -

¢} Determine the energy absorbed in 3 seconds. L

Answer: 1) _ BS( b ! i T} -SE o 1S L=
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1) Figure | shows the current through and the veltage across a device. Find the total i

energy absorbed by the deviee fore the period <1< 44 by na
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1UH=15%
. 4) From the course booklet that you bought from the UBC Bookstore, solve end of
chapter questions: 1.2, 1.7, 110 and 1.9, : V )= (06
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